

$$(1) \cos r = r \sin \alpha - 1$$

$$1 - r \sin^n = r \sin n - 1$$

$$r \sin^n + r \sin n - r = 0$$

$$\sin n = \frac{-r \pm \sqrt{r^2 + 4}}{2} = \begin{cases} \sin n = \frac{1}{r} \oplus \\ \sin n = \sin \frac{\pi}{4} \\ \sin n = r \end{cases}$$

$$\begin{aligned} n &= rkn + \frac{\pi}{4} \\ n &= rkn + \frac{\pi}{4} \end{aligned}$$

$$(1) \quad (1) \quad A \cos \omega t + B \sin \omega t = C \cos(\omega t - \phi)$$

$$\cos^n + \cos n - r = 0$$

$$r \cos^n - 1 + \cos n - r = 0$$

$$r \cos^n + \cos n - r = 0$$

$$\begin{cases} \cos n = 1 \oplus \\ \cos n = -\frac{r}{r} \end{cases} \quad \boxed{n = rkn}$$

$$(1) \sin^n - \cos^n = \sin^n$$

$$(\sin^n + \cos^n)(\sin^n - \cos^n) = \sin^n$$

$$\cos(n - r) = \sin^n = \cos\left(\frac{\pi}{r} - r\right)$$

$$n - r = rkn + \frac{\pi}{r} - r$$

$$\boxed{n = kn - \frac{\pi}{r}}$$

$$n - r = rkn - \frac{\pi}{r} + r$$

$$\boxed{n = -\frac{kn}{r} + \frac{\pi}{r}}$$

$$(1) r \cos^n + r \sin^n \cos n = 1$$

$$r \sin^n \cos n = 1 - r \cos^n$$

$$\sin^n = -\cos^n = \cos(n - r)$$

$$\cos(n - r) = \cos\left(\frac{\pi}{r} - r\right)$$

$$n - r = rkn - \frac{\pi}{r} + r$$

$$\boxed{n = -\frac{kn}{r} + \frac{\pi}{r}}$$

$$(1) \cot n (r \cos n + 1) = \frac{1}{\sin n}$$

$$\frac{\cos n}{\sin n} (r \cos n + 1) = \frac{1}{\sin n} \quad \sin n \neq 0$$

$$r \cos^n + \cos n - 1 = 0 \quad \begin{cases} \cos n = -1 \times \\ \cos n = \frac{1}{r} \oplus \end{cases}$$

$$\boxed{n = rkn \pm \frac{\pi}{r}}$$

$$(1) r \sin^n - \sin^n \cos n + \cos^n = r$$

$$\sin^n + \cos^n + \sin^n - \sin^n \cos n = r \quad (1)$$

$$\sin^n - \sin^n \cos n = \sin^n + \cos^n$$

$$\cos^n + \sin^n \cos n = 0$$

$$\cos n (\cos n + \sin^n) = 0$$

$$\Rightarrow \sin^n = \cos n$$

$$\boxed{n = rkn \pm \frac{\pi}{r}}$$

$$\boxed{n = kn + \frac{\pi}{r}}$$

$$(1) \cos\left(\frac{\pi}{r} + n\right) \cos\left(\frac{\pi}{r} - n\right) = \frac{1}{r}$$

$$\cos\left(\frac{\pi}{r} + n\right) \sin\left(\frac{\pi}{r} + n\right) = \frac{1}{r}$$

$$\frac{1}{r} \sin\left(\frac{\pi}{r} + r\right) = \frac{1}{r}$$

$$\cos(rn) = \frac{1}{r}$$



$$rn = rkn + \frac{\pi}{r}$$

$$\boxed{n = kn + \frac{\pi}{r}}$$

$$\begin{aligned} rn &= rkn - \frac{\pi}{r} \\ \boxed{n &= kn - \frac{\pi}{r}} \end{aligned}$$

$$(1) \cos\left(\frac{\pi}{r} - r\right) = \sin(-r)$$

$$\cos\left(\frac{\pi}{r} - r\right) = \cos\left(\frac{\pi}{r} + r\right)$$

$$\frac{\pi}{r} - r = rkn + \frac{\pi}{r} + r$$

$$-rn = rkn + \frac{\pi}{r}$$

$$\boxed{n = -\frac{kn}{r} - \frac{\pi}{r}}$$

$$\frac{\sin \frac{n}{r}}{1 + \cos \frac{n}{r}} = \frac{1}{\sin \frac{n}{r}} + \frac{\cos \frac{n}{r}}{\sin \frac{n}{r}} \quad (9)$$

$$\frac{\sin \frac{n}{r}}{1 + \cos \frac{n}{r}} = \frac{1 + \cos \frac{n}{r}}{\sin \frac{n}{r}}$$

$$\sin^r \frac{n}{r} = (1 + \cos \frac{n}{r})^r$$

$$\cos^r \frac{n}{r} = 1 + \cos^r \frac{n}{r} + r \cos \frac{n}{r}$$

$$r \cos^r \frac{n}{r} + r \cos \frac{n}{r} = 0$$

$$r \cos \frac{n}{r} (\cos \frac{n}{r} + 1) = 0$$

$$\frac{n}{r} = rkn + \frac{n}{r}$$

$$\frac{n}{r} = rkn + n$$

$$\boxed{n = rkn + n}$$

$$\boxed{n = rkn + n}$$

$$\boxed{n = rkn - n}$$

$$\boxed{n = rkn - n}$$

$$n = n \quad n = -n$$

$$\boxed{n - (-n) = rkn}$$

$$\frac{\sin^r n + \sin^r n}{\sin^r n} - \sin^r n = \cos^r n \quad (8)$$



$$\frac{\sin^r n + \sin^r n}{\sin^r n} = 1 \rightarrow \sin^r n + \sin^r n = \sin^r n$$

$$\sin^r n = 0 \quad \boxed{n = kn}$$

$$\cos^r n - \sin^r n \cos^r n = 1$$

$$\cos^r n = 1 \quad (7)$$

$$1 - \sin^r n - \sin^r n \cos^r n = 1$$

$$-\sin^r n (1 + \cos^r n) = 0$$

$$\cos^r n = -1$$

$$\boxed{n = kn}$$

$$\cos^r n = -1$$

$$r n = rkn + n$$

$$\boxed{n = \frac{rkn}{r} + \frac{n}{r}}$$

$$\frac{n}{r} < n < \frac{2n}{r}$$

$$\sqrt{1 + \sin^r n} = \sqrt{r} \cos^r n \quad (6)$$

$$1 + \sin^r n = r (\cos^r n)$$

$$1 + \sin^r n = r - r \sin^r n$$

$$r \sin^r n + \sin^r n - 1 = 0$$

$$\sin^r n = -1 \quad \text{Unit circle diagram showing } n = rkn - \frac{n}{r}$$

$$\sin^r n = \frac{1}{r} \quad \text{Unit circle diagram showing } n = rkn + \frac{n}{r}$$

$$n = kn - \frac{n}{r} \quad n = kn + \frac{n}{r} \quad n = kn + \frac{2n}{r}$$

$$\frac{rkn}{r}$$

$$\frac{n}{r}$$

$$\frac{2n}{r}$$

$$\frac{1 - \tan n}{1 + \tan n} = \tan^r n \quad (5)$$

$$\frac{\cos n - \sin n}{\cos n + \sin n} = \frac{\sqrt{r} \sin(\frac{n}{r} - n)}{\sqrt{r} \sin(\frac{n}{r} + n)} = \tan^r n$$

$$\frac{\sin(\frac{n}{r} - n)}{\cos(\frac{n}{r} - n)} = \tan(\frac{n}{r} - n) = \tan^r n$$

$$\frac{n}{r} - n = kn + rn \rightarrow -rn = kn - \frac{n}{r}$$

$$\boxed{n = -\frac{kn}{r} + \frac{n}{14}}$$

$$\sin^r n - \cos^r n = 1 \quad (4)$$

$$(\sin^r n - \cos^r n)(\sin^r n - \cos^r n) = 1$$

$$\cos^r n = -1 \quad \text{Unit circle diagram showing } n = rkn + n$$

$$rn = rkn + n$$

$$\boxed{n = kn + \frac{n}{r}}$$

$$\frac{n}{r} < n < \frac{2n}{r}$$

$$\sin^r n - \cos^r n = -1 \quad (3)$$

$$(\sin^r n - \cos^r n)(\sin^r n + \cos^r n + \frac{1}{r} \sin^r n) = -1$$

$$\sqrt{r} \sin(\frac{n}{r} - n)$$